1~15: B EA(T5%) (FAgHeF - /g, FH-HEI LA, FE4 &7 5/, 2 Gldes 2 %4)

1. What is the domain of f(x)=x* ?

Select the correct answer.
(A) (-0,0) (B) (0, ) (C) [0,0) (D) (-%,0) (E) (-,0].

2. What s the range of f(x)=x"* ?

Select the correct answer.
(A) (-0,0) (B) (0, ) (C) [0,0) (D) (-»,0) (E) (-,0].

S mYArx=2_,
x—0 X
(A) 0 ®f ©f o1 E) »
2 4 '
4. Iirp+xlnx=?
(A) 0 ®f ©f o1 E) »
2 4 '
>t im0 =8 _10 then 1im f(x) =2
x—1 X—l x—1
(A) 0 (B) 1 ©) 2 (D) 4 (E) 8.
6. 1+ X2 . X<0
Let f(xX)=< 2-X , 0<x<2

(x=2)* ,x>2

Find the number at which f is discontinuous.
(A) -1 (B) 0 ©) 1 (D) 2 (E) none of above.

7.  For what value of the constant c is the following function f continuous on (—oo, ) ?

f(x)z{ oxX® + X ,X<2
x® —cx L X>2
(A) -1 (B) 0 ©) 1 (D) 2 (E) none of above.

icos(2x) =7?
dx

(A) sin(2x) (B) —sin(2x) (C) 2sin(2x) (D) —2sin(2x) (E) none of above.



10.

11.

12.

13.

14.

15.

d

—(xInx)=?

dx( )

(A) x+1 (B) x+Inx (C) Inx+1 (D) xInx (E)none of above.

Find the minimum value of the function f(x)=x(x+100) for —co<x<o.

(A) —o (B) —2500 < 0 (D) 100 (E) none of above.

T
J'OZ sin x dx =?

(A) 0 (B) 1 (C) 2 (D) % (E) none of above.

5 5 4
If L f (x) dX = 2 and L f(X)dx =1 then L f(x)dx =?

A 0 B) 1 ) 2 (D) 3 (E) none of above.
jz X“2dx =7?.

1
A 1 (B) 1 ©) % (D) % (E) none of above.

ijxtsintdtz?
dx 7o

(A) tsint (B) xsinx (C) xcosx (D) sinx+xcosx (E) none of above.

d ¢«
— | f(t)dt="7
de‘*X ®

(A) f(x) (B)2f(x) C)f(xX)+f(=x) (D) f(x)—f(-x) (E) none of above.

16~20 : 4FiERE(25%) (FHI V5 - B mER, R 2 FHET A, LAFHEF0L)

16.

Let f(x) =| X | , Which of the following statements are correct?

A f=1

(B) f(-1)=-1.

(C) The domain of f(x) is (—o0,).

(D) The function f(x) iscontinuous on (—o0,).
(E) The function f(x) is differentiable on (—o0,).



Which of the following functions have the property '[jl f(x)dx =0

(A) f(x)=x

(B) f(x)=sinx
(C) f(x)=cosx
(D) f(x) = xsin x
(E) f(x)=xcos x

Which of the following statements are correct?

(A) If f(x) iscontinuousat x =a,then f(x) isdifferentiableat x=a.
(B) If f(x) isdifferentiableat x =a,then f(Xx) iscontinuousat x=a.

(C) If lim f(x) exists,then f(Xx) iscontinuousat x=a.

(D) If f(x) iscontinuousat x=a,then lim f(x) exists.

X—a

Let f(x) and g(x) betwo continuous functions on [a, b]. Which of the following
statements are correct?

A [ ) +gd=[f(gde+ [ g(x)dx
® [ fx)gxdx =] f(x)dx- [ g(x)dx.
© ['5f(0dc=5]"f(x)dx.

() [ xf (x)dx = x| f(x)dx.

Which of the following functions are differentiable on (—o0,) ?

(A) f(x)=x
B) f()=|x]|
© f(x) =[x

(D) f(x)=|sinx |



ANSWER

1 2 3 4 5 7 10
A C C A E C B
1 12 13 14 15
B B D B C
16 17 18 19 20
(AC,D) (A.B.E) (8,D) (AC) (AC)




